KONICHEK                   SEMESTER 2 REVIEW- you will find all the answers to these in past test                     

787-0215                         
1. A machine with a mechanical advantage greater than one- increases the force put out by the machine( all of the given answers)
2 For an ideal machine, the input work must equal the output work
3  If no net force acts on a body-the object is in equilibrum
4The greatest change in momentum will be produced by

acting over a short time. a large force acting over a short time
5. If an object with a velocity of 50 m/s has the same momentum as that of a 10-kg mass having  a velocity of 20 m/s, the mass of the object is: Mx50= 10x20
7 Impulse can be represented by: FΔT=mΔv
8. If the mechanical advantage of a machine is less than 1, Its not an ideal machine
9. Using an ideal machine, a worker exerts an effort force of 5.0 N to move a 

   12.0-N weight a distance of 3.0 meters. The effort distance is ( 50Nxd=12Nx3)
 

10.Which form of thermal energy transfer is most effective in fluids? convection
11. The hotness of a body is its temperature
12 The amount of heat needed to melt one kilogram of a substance is called that substance's- specific heat Heat of fusion
13 A heat engine converts- heat energy to mechanical energy
14 The disorder in a system is known as- entropy
15. The energy that flows as a result of a difference in temperature is heat
16  On the Kelvin temperature scale, the freezing point of water in K.   273K
17  When two objects are at thermal equilibrium, -temperature are the same
18. If thermal energy is added to equal masses of substances, they will show different changes in temperature because they  are different.- different specific heats
19. If 25 g of hot water are added to 35 g of cold water, the heat lost by the hot water is_______ the   heat gained by the cold water. equal to
20 Unlike work, heat is energy transferred because of different temp
21. The total increase in the thermal energy of a system is the work done on it is____________to the heat added to it. added
22. Momentum can be calculated by multiplying mass by: velocity
23. When a golfer hits a golf ball, the force exerted by the-ball on the club 

is ___________ that exerted by . The club on the ball. equal to
24.  Any object that has energy has the ability to: WORK
25. When a force is exerted on an object, work is done only if the object MOVES
26 In which of the following situations is no work done on a football?CARRYING IT DOWN TH FIELD
27. In which of the following situations is work done on the football by a person?PICKING UP THE FOOTBALL
28 In which of the following situations is work done on the football by gravity?DROPPING THE FOOTBALL
29 How much work is done if you raise a 6.0-N weight 1.5 m above the ground?9J


 30 One definition of power is WORKS DONE PER UNIT TIME
31.When a golf club hits a golf ball, the change in momentum of the ball is________ the change in  Momentum of the club. EQUAL TO
32.When a golf club hits a golf ball, the change in velocity of the ball is ________ that of the club GREATER THAN
             33. A system is said to be closed if: NO EXTERNAL FORCES ARE ACTING ON IT
 34.If an object moving at a rate of 20 m/s collides with a stationary object and the two objects move away together, the velocity of the combined objects will be LESS THAN 20M/S
35.An internal force ________________ the total momentum of a system. DOES NOT CHANGE
36. Two moving objects collide and move apart on paths that are 1200 apart. The total momentum of the objects after the collision is - the total momentum before the collision. EQUAL TO
37. The total increase in the thermal energy of a system is the work done on it is____________to the heat added to it. PLUS
38If the average kinetic energy of the particles that make up a liquid increases,  TEMP INCREASE
39Vibrating bells produce ___________________ waves. LONGITUDINAL WAVES
40 The shortest time interval during which wave motion repeats is the PERIOD
41 The number of complete vibrations per second is the FREQUENCY
42 The shortest distance between two points on a wave where the wave pattern is repeated is the WAVELENGTH
43 The speed of any mechanical wave depends on MEDIUM
44. When light from the air enters a body of water, some of the energy moves back into the air as a(n)_______________ wave. REFLECTED
45.During constructive interference, the individual wave pulse RETAIN THE ORIGINAL SIZE AND SHAPE OF THE WAVE
46.A(n) _________is produced during destructive interference of waves.NODE
47. The_______ states that the angle of incidence equals the angle of reflection. LAW OF REFLECTION
48.The change in the direction of waves at the boundary between two different media is REFRACTION
49.When waves spread out around the edge of a barrier,_______ occurs. DIFFRACTION


50. The type of Electromagnetic wave, which derives from, the decay of a neutron is: GAMMA
51.The substance, which must be present for microwave to cook food, is:  WATER
52 The law of the conservation of energy :ENERGY CANNOT BE VREATED OR DESTROYED
53. What would be the Celsius temperature if the Fahrenheit temperature were

-40 F? -40c
54. The amount of heat needed to raise 4g of water one degree would be 4gx4.18J/g
55. 40 degrees Celsius would equal how many degrees Kelvin?313K
56 .The amount of heat needed to melt one gram of a solid to one gram of a liquid at the same temperature is called : HEAT OF FUSION
57 Heat transfer only through solids would be: CONDUCTION
58. A(n) - transmits energy without transferring matter. TRANSVERSE
59  Waves on banjo strings are ___________ waves. LONGITUDINAL
60 Dropping a stone into water will produce a(n)TRANSVERSE/MECHANICAL
61____ The reason a pencil looks bent when placed in water is because of: REFRACTION
62.____ A puddle appears on a highway on a clear day because: THE REFRACTION OD LIGHT CAUSED BY DIFF DENSITY OF AIR
63____Echoes demonstrate____________of sound waves. REFLECTED
64____ Sound is a(n) ___________ wave.LONGITUDINAL
65____ As an approaching ambulance passes a stationary observer, the frequency of the sound  emitted by its siren DOPPLER EFFECT

66____ The frequency of the sound heard by the observer in #64_______as the approach​ing ambulance passes the observer. DECREASES
67____ A detected change in the frequency of a sound due to a moving source or a moving observer is DOPPLER EFFECT
68_____ Which of the following does not describe the pitch of a sound? LOUD OR SOFT
69.____ Which would not be an example of work? PUSHING ON THE WALL
70_____ An incline plane's M.A. can be increased if: MAKE IT LONGER
71._____ Work out and work in would be equal only if: IF THE MACHINE WERE FRICTIONLESS
72.____ 40J of work is done in 12 seconds. Find the power of the machine. 40/12
73.____ A student pushes with a force of 60N on a box, which moves 5 meters. Find the work done 60x5
74. ____To increase the M.A. of a lever the ___________arm would have to increase its length MAKE THE EFFORT
75. ____ Using power which machine would be the most efficient? THE MACHINE WITH THE GREATEST POWER
PROBLEMS (42 POINTS)

1. How much heat must be added to 250 g of methanol to raise its temperature by 40°C? The specific heat of methanol is 2.450 J/gC.
              H=MCΔT
2. An effort force of 200.0 N is applied to an ideal machine to move a 650.0-N resistance a distance of 200.0 cm.

 a. Through what distance must the effort force act?      

     FIDI= FODO
b. What is the IMA of the machine?  IMA= DE/DR
3. How much work must be put into a machine that is 80% efficient in order to move a mass of 600.0 kg a distance of 15.5 m?  %E= WO/WI
4. The boiling point of liquid x is - 265°C, which is the lowest boiling point of all the elements. Express this temperature in Kelvin.

    C+273

.

5. How much heat does it take to convert 800g of ice to 800g of steam?
 (MxHf)+ (MCΔT)+ (MxHv)
6. Atmospheric pressure at sea level is about 1.0 x 105 Pa. How much force does the atmosphere exert on a driveway that is 9.0 m long and 3.0 m wide?

p=F/A
7. Find the total force exerted by Earth's atmosphere on the top and sides of a rectangular can. The 
base of the can is 10.0 cm wide and 10.0 cm long, and the can is 10.0 cm high. Pressure ate sea level is 1.0x105Pa

Ta= 2HL+2WL+WL       F=PxA
8. A force of 700.0 N is exerted on a small piston, which has an area of 4.0 cm2. How much weight 
can be lifted on a large piston, which has an area of 14.0 cm2?
   F1/A1=F2/A2
​

9.Light in air is incident upon a piece of crown glass at an angle of 25 degrees, what is the angle of refraction? (n1=1.52)4pts

   N1SINθ1 = N2SINθ2
10.  Find the speed of light in the following ( n= C/Vs, solve for Vs)(6pts)

   a. ETHANOL(2.36)                                                 

     V=C/N
    b. FLINT GLASS(5.54)                                                               

     V=C/N
c. CROWN GLASS(3.52)

   V=C/N
